EARAROBREBRT —5 XN—ZXBISH—F

2021688278 (&) 10EHAE1H

¥ 35— 61 USRI BN
[®E%] 1% :300,000H  2&:90,000H  33%&:48,000M ./ 43%&:24,000M” . 53&:18,000 3
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
3 4 3 | WOm 1:23.5 2-2-2-1 [38.2| - 2 M5 | KIEHK ()
115 5| EL—=Y% 54.0 (=) -13) | BO=)\ .
ReNA40 B:J4I7ILT« B 5
~ BERE—EB : -6-6- - JIIEEZEEF (1£58)
) 6| V17— 1F— 43 B 1.33.3 6-6-6-4 | 38.9 1 (4_63 e
RIIET7RAT7 B:LFv—5 ERRIS
< = HAKIBA : -5-4- - oENXE (K8
311 HAY/ES7 30 ng SRR ’ g mﬁ;( )
R:O0—R7IF«4X B:5T1—2 BaiE
3 4 3 | RBEC 1:24.9 1-1-1-2 [39.7| — 5 1456 | FEBF (E8)
] 4| 7ITF 54.0 CI5) ) |BEET
R:7ZAINTGTFH— 8:5UFT— Ve
4 3 B 1:25.0 7-7-7-5 | 39.6| — 4 449 |WWERA ()
5/8l9 J05vh 54.0 (/2) “1 ?ﬁﬂggiﬁ
RiFRF B:OvIFTHUYS et
< Hohid : -3-5- - SEXE (K8
6 3| AV IRART— 4 3 e 1.(225).4 3-3-5-6 | 40.0 6 (4_912) ﬂaﬂgg
R:O0—IVIUY 8:RFA KU—FAR MER Y R
o <, 0 R : -8-8- - KHEAE (k8
7lglg | fO—1>8T 3| LA A o | g
RIS/ vvv—T0 BIRI—-FZIVI BB
= 3 | REEC 1:25.8 4-4-3-7 | 40.5| — 8 470 | BABT (1K)
g|z7|7|7«07t=>F %0 (") @) |G
R:budoO0—U— B:I7ONTAvIR AE—=RIT7—L4
- N =K T : -9-9- - WTFEX (£5)
9 NEDPZUEZES 33 5T 1.(287).4 9-9-9-9 |39.9 7 (4:3;)) m?k% ®
R:TJx/—>*/ B:J0=AH Ea T |
@ 11— —‘@BIEfI
13—7F— 4,5,3,7,1,6,9,8,2
20—7F— 4,5,3,7,1,6,9,8,2
30—7— 4,5,7,1,3,6,9,8,2
43—F— 5,4,1,6,9,3,7,8,2
0 ILRE
BB 5 350 JA R 5-6 170/ AN 5-6 330 3EE 1-5-6 5708
B B 5 110M9 =5 210 F5 EE 5-6 390 3EE 5-6-1 2,170H
6 1004 1-6 2404 o= 5-6 910M4
1 1409

ABIC OV TRUTEREERRODDZE. THRIIZEL.




